Y

PLEASE NOTE:

YOUR DEALER.

REMOVE EXISTING
BOLT FROM EZ-55B

1) EZ-55B BASE INCLUDED
2) POLE ANCHOR HARDWARE PROVIDED WITH EZ-55B BASE
3) NET SOLD SEPARATELY

EZTBP-5 TENNIS POST

2) USE OF THIS EQUIPMENT OTHER THAN
INTENDED, MAY BE HAZARDOUS.

3) ALTERATION OR MODIFICATION OF
EQUIPMENT MAY BE HAZARDOUS. FOR
REPAIRS OR REPLACEMENT, PLEASE CALL

1) FOR SAFE OPERATION AND CONTINUED
HIGH PERFORMANCE FROM THIS
EQUIPMENT, INSPECTION AND MAINTENANCE
MUST BE PERFORMED BEFORE EACH USE

\y ,,,,,,,,,,,,,,,,,

" 3/8" x 3" LONG HEX BOLT w/
LOCK NUT & FLAT WASHER

IMPORTANT:

N A
0 @
NET
(SOLD SEPARATELY)

THE EZTBP-5 SETUP IS INTENDED FOR
RECREATIONAL USE ONLY.

DO NOT OVER TENSION THE NET AS IT MAY
CAUSE THE BASES TO BECOME UNSTABLE.

Parts List

ITEM | QTY PART #

DESCRIPTION

EZ-55B

EASY ROLL BASE

EZTBP-5A

TENNIS WINCH POST

EZTBP-5B

TENNIS ANCHOR POST

RT-10JBLK

DELUXE PLATFORM TENNIS WINCH

HS283

5/16-18 x 3 HEX CAP SCREW-ZP-GrNC

HN5046

5/16 - 18 FLANGE LOCK NUT - ZP - GrNC

HN808

3/8-16 HEX JAM NUT ZP

HW334

3/8 LOCK WASHER-ZP-GrNC

O O N GOl WIN| =

HS291

3/8-16 x 2-1/2 HEX CAP SCREW-ZP-GrNC

B2 ININDNININ| =222 N

=y
o

HW2083

5/16 STD WASHER-ZP-GrNC

2 SPOr

jaypro

ts

EZTBP-5

TENNIS POST

© COPYRIGHT 2017 JAYPRO SPORTS, LLC. ALL RIGHTS RESERVED
THIS PRINT IS THE PROPERTY OF JAYPRO SPORTS, LLC. AND MAY
NOT BE REPRODUCED WITHOUT WRITTEN PERMISSION

WWW.jaypro.com
(800) 243-0533
976 Hartford Turnpike
Waterford, CT 06385 USA

Sheet 1 of 1




